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EH=5. 000

FH=0, 000

2 3

NO.0 0
NO.0+10.0 10 10 450 225 2,250
NO.1 10 20 722 586 5,860
NO.1+2.0 2 22 780 751 1,502
NO.2 18 40 774 777( 13,986
NO.2+11.8 11.8 51.8 772 773 9,121
NO.2+15.6 3.8 55.6 770 771 2,930
NO.3 4.4 60 767 769 3,384
NO.3+15.0 15 75 758 763 11,445
NO.4 5 80 755 757 3,785
NO.4+2.7 2.7 82.7 754 755 2,039
NO.5 17.3 100 749 752 13,010
NO.6 20 120 737 743 14,860
NO.6+9.5 9.5 129.5 731 734 6,973
NO.7 10.5 140 725 728 7,644
NO.7+4.0 4 144 722 724 2,896
NO.7+9.9 5.9 149.9 725 724 4,272
NO.8 10.1 160 746 736 7,434
NO.8+18.0 18 178 780 763| 13,734
NO.9 2 180 722 751 1,502
NO.9+12.0 12 192 450 586 7,032
NO.9+16.0 4 196 192 321 1,284
NO.10 4 200 0 96 384

200 137,325
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